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Jamma Limited manufactures a single product. The following is a summarised
income statement for the vear ended 31 December 2016:

Ksh Ksh

Sales 4000000
Less:

Vanable costs 1 600 00

Fixed costs 3,600 000

(22000000

Net Loss 1200000
Calculate the:

(i) contribution sales ratio;
(t)  break even point in shillings;
(i)  sales value, if the firm targets a profit of Ksh 300,000 in the coming year;
(iv)] margin of safety in shillings, at the target profit sales level.

(8 marks)
Tenda Limited intends to invest in either project ) or project R. The following
information relates to the projects:

Project Q) Project B

Ksh Ksh
Cash Outlay 2,000,000 3,000,000
Cash inflows:
Yeur | 300,000 800,000
2 500,000 1,900,000 )
3 LI0DO0D 1500000
4 F00000 600,000 .
5 400,000 200,000
The company’s cost of capital is 12%. =

(i)  For cach project. determine the:

I present value;
. discounted payback period;
L. profitability index.
5
(il Advise the management on the project to invest in. {12 marks)
2
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*  The company will pay dividends amounting 1o Ksh 630,000 in the month of
December 2018,

=  The company will purchase and install CCTV equipment in October 2018 for
Ksh 170000, A deposit of Ksh 120,000 will be paid immediately and the balance
of Ksh 50,000 will be paid in the following month.

«  Jdle premises will be leased out at Ksh 240,000 in the month of December and
cash will be received immediately.

= The expected cash balance as at | October 2018 is Ksh 76,000,

Prepare cash budget for the months of October, November and December 2018.
{11 marks)

2. (a) Explain four assumptions of cost-volume-profit analysis, 8 marks)

(b}  Genery Limited intends to invest Ksh 1,100,000 in a project.

The following information relates to the project:

Net cash inflows

Year (Ksh)

| 300,000
2 00, 000
3 400,000
4 100 000

(1) Determine the Net Present Value of the project at each of the following discount

factors:
(1) 15%
() 24%
(i) Using the results obtained in (i) above, compute the Internal Rate of Return
(IRR) of the project.
{12 marks)
2 (a)  Texus Limited intends to either manufacturer a product or purchase the product

from the market. The probability of the manufacture being successful is (.7, If the
manufacture is unsuccessful the estimated loss will be Ksh 2,000.000. I the
manufacture is successfiul the outcomes and their corresponding probabilities will be as

follows:
Outcome Probability  Profit
(Ksh)
Good 03 £ 000,000
Moderate 05 4 000,000
Poor 02 250,000
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The data below relates to production output and total cost of a product
manufactured by Weza Limited over a period of 6 years:

Year Output (x) Total cost (y)
| (Thousands of units) (Ksh "D

| 4 70

2 6 )

3 9 110

4 12 130

5 15 150

6 |8 170

(i) Determine the regression equation: y =a +br, using the least squares method.

w0
(i) Estimate the total cost in year 7, if 20,000 units are produced.
. {12 marks)

Spyee Lamited has four jobs; 1, [1, 11T and 1V, which are 10 be undenaken by four
computer specialists; Abdi, Billy, Carol and Dennis. The following information
relates 1o the time, in hours, that each specialist takes to perform each job.

. JOB
Specialist ! i v
Abdi 2 5 6 10
Billy I 12 6 5
Carol 7 8 3 9
Dennis 13 5 8 7
Allecate the jobs to the specialists so as to optimise on time. (9 marks)

- Pradox Equipment Limited intends 1o introduce a new washing machine in the

market. Three models have been proposed:

Wash Only Wet (WOW)
Wash Rinse Wet (WRW)
W:_ish Rinse Dry (WRDj)

The firm can only manufacture one model. The following information relates to the
expected demand, probabilities and expected annual profits for the models.
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Profits
WOW  WRW WRD

Demand Probability Ksh "000  Ksh ‘000 Ksh "000
High 0.35 15,000 34,000 22 (00
Maoderate .40 28,000 31,000 16,000
Low 025 (6.000) 2,500 8.000
(1) Drraw a decision tree o repreésent the information above,
(ii) Determine the expected values.

(i)  Advise the management on the model to introduce in the market.

Explain four assumptions of a single server model in queueing.

Genero Limited manufactures three products, A, B and C. The following

information relates to one unit of each product:

Product A  Product B Product C

Ksh Ksh ksh
Selling Price 47 56 i)
Costs:
Direct materials (a1 Ksh 4 per kg) ) 4] 12
Direct labour 6 10 8
Variable production overheads 3 5 4

Additional information:
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{11 marks)
{8 marks)

. The maximum annual demand for products A, B and C are 6,000, 4,000 and

G000, respectively;
. The annual fixed overheads are Ksh 400, 000;

. The direct material used in the manufacture of the products is limited 1o

45 000 kg in the coming vear.
Determine the:

(i) contribution per unit for each product;
(1) order of pnonty of the products;

(i) optimal production mix;

liv)  net profit at optimal production mix.

{12 marks)
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Explain four planning decisions that are made by a management accountant of a
firm. (8 marks)

Banax Limited uses material MN 23 in the manufacture of its product, The material
is p:lrchaﬂd from Zepak Suppliers at Ksh 30 per unit.

The following data relates to the material:

Requirement per year 480,000 units
Cost per onder Ksh 11250
Annual stockholding cost per unit 105 of the material price

(i)  Determine the:

l. Econvmic Order Quantity (EOQ):
1. annual ordening cost;

« . annval holding cost;
IV.  annual tomal cost,

(i) Zepak suppliers has offered a discount of 2% if the firm purchases in lots of
: 120,000 units.

I. determine the tetal annual cost:
IL. advise the management on whether to accept the discount offer or not,
(12 marks)




7 (a) The following information relates 1o a project to the undertaken by Kaly Limited

Activity Preceding Dration

Actvity {days)

A - -
B A )

C A 4
] C B
E I 6
I B 3
O B 5
H F.G 2
| EH 12

(i} ~ Draw a network diagram for the project;

(i1} Determine the:

| critical path;

I project duration,
2804/301 7
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{ 10 muarks)
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(Bl The following is the budgeted income statement of Mambo Limited (or the
production and sale of 200,000 units of a product for the year ended 31 December 20 &

Ksh Ksh
‘ " Sales 12,000 000
Less cost of sales;
Direct materials 1,000,000
Diirect labour | 400000
Variable production overheads 400 000
Fixed production overheads JO0,000
3. 100K
Giross Profit 8,500,000
Less:
Fixed administration expenses 3,720,000
* Variable selling expenses (4% of sales) 480,000
4.200.000
Met Profit 4, 700,000
During the year ended 31 December 2016, the firm produced and sold 130,000 units

of the product at Ksh 65 per unit.

The following costs were incurred dunng the year:

Ksh
Direct materials 1,620,000
Direct labour 2,700,000
Variable production overheads 360,000
Fixed production overheads 300 000
Fixed sdministration expenses 3720000
Variable selling expenses 468 000

In columnar form, prepare for the year 2016z

L. budgeted income statement for an output of 130000 unit.

| R income statement for the actual production of 180,000 units.
: M.  calculate the variances from the income statements prepared in (1) above.
(100 miarks)
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